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2015 HIGHER SCHOOL CERTIFICATE EXAMINATION
Automotive
Mechanical Technology

Section 11

35 marks
Attempt Questions 16-21
Allow about 50 minutes for this section

Answer the questions in the spaces provided. These spaces provide guidance for the expected
length of response.

Question 16 (4 marks)
Ten litres of engine oil have been spilled on the workshop floor. 4

Outline how to clean up and dispose of the waste.
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Question 17 (4 marks)

(a) Where should a workshop dispose of trade waste water? 1
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(b) Outline TWO environmental consequences of incorrect trade waste disposal. | 3
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2015 HIGHER SCHOOL CERTIFICATE EXAMINATION
Automotive
Mechanical Technology

Section II (continued)

Question 18 (3 marks)

All new vehicles registered in Australia need to be compliant with Australian Design
Rules (ADR).

What is the purpose of these rules?
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Question 19 (7 marks)

(a) Construct a parking light circuit in the box below, using all the symbols 5
provided. ‘

(b) Explain how you would use a voltmeter to test voltage drop to the parking/tail 2
light circuit.
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2015 HIGHER SCHOOL CERTIFICATE EXAMINATION
Automotive
Mechanical Technology

Section II (continued)

Question 20 (8 marks)

(a) Describe how the motor sport industry has influenced the development of 3
vehicle brake technologies.
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(b) Explain how an anti-lock braking system (ABS) prevents wheel lock-up in 5
emergency braking conditions.
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